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P 100kN/mZ#BZ % — -~ = —|3mZzi#BzE| — ~ - — — | 100kN/mM%#8 % % — - ~ — —|3m%iBZ% -~ — — —
Tt 1.00 | 000 ~ 487 60.68 | TN | 000 ~ 487]2.05 10.37 Tt 1.00)5.00 ~ 6.18 60.68 | TN | 5.00 ~ 6.18|2.05 10.37
2 100kN/mZ#B % % — -~ = —|3mZziBzB| — ~ — — — | 100kN/ %% % — - ~ — —|3mZiBZ 5 -~ — — —
Tt 1.00 | 0.00 ~ 730 93.04 | =0 | 0oo ~ 730|243 12.26 TSt 1.00 ) 56.00 ~ 1030 93.04 | ThS | 5.00 ~ 1030|243 12.26
3 100kN/mZi#8%x%| 1.00| 000 ~ 257| 140.30 |3m%E#EzE| — ~ — — — | 100kN/mi%#825% | 1.00 | 1057 ~ 2154 140.30 |3m%i#B2 % -~ — — —
ZnLLst 100|257 ~ 1035 100.00| Fhist | 0oo ~ 1035|2.77 13.98 LS 1.00)56.00 ~ 1057 100.00| ThA5 |5.00 ~ 2154|277 13.98
4 100kN/ %8z | 1.00 | 000 ~ 340 154.70 |3mZE#BZ5| 000 ~ 029]|3.15 15.94 | 100kN/m%i#82% | 1.00 | 1053 ~ 3379 | 1564.70 |3mZEBz25| 2500 ~ 3379 3.15 15.94
Th st 100|340 ~ 1119 100.00| Ths | 029 ~ 1119] 3.00 15.16 Th st 100 5.00 ~ 1053 100.00 | =hst | 5.00 ~ 2500| 3.00 15.16
5 100kN/m#Zi# %5 | 1.00| 000 ~ 351 156.55 |3mZE#B25| 000 ~ 024]| 312 15.77 | 100kN/m#%i#8%25 | 1.00 | 1054 ~ 39.80 156.55 |3mZEBZB| 2500 ~ 3980| 3.12 15.77
Thnst 1.00 | 351 ~ 1129 100.00 | #ns | 024 ~ 1129 3.00 15.16 Tt 1.00 ) 5.00 ~ 1054 100.00 | =his | 5.00 ~ 2500 3.00 15.16
6 100kN/M%i#8Z% | 1.00| 000 ~ 374 160.67 |3mZEBZ 5| 000 ~ 139 3.68 18.62 | 100kN/m%i#Bz2% | 1.00 | 1053 ~ 4580 | 160.67 |3mZE#B25| 2500 ~ 4580 | 3.68 18.62
Zn st 1.00)| 374 ~ 1152 100.00 | #hdst | 1.39 ~ 1152 3.00 15.16 Zh LS 1.00 ) 5.00 ~ 1053 100.00 | =hlst | 5.00 ~ 2500 3.00 15.16
7 100kN/MZi#8Z 5| 1.00 | 000 ~ 359 158.09 |3mZi#B25| 0.00 ~ 127]3.60 18.21 | 100kN/m%i#B2% | 1.00 | 1055 ~ 4786 | 158.09 |3mZE#Bz5| 2500 ~ 4786 3.60 1821
Th st 100|359 ~ 1138 100.00| Ths | 1.27 ~ 1138] 3.00 15.16 Zh st 1.00]56.00 ~ 1055 100.00| TnL45 | 5.00 ~ 2500| 3.00 15.16
3 100kN/mMZi#BZ% | 1.00 | 000 ~ 373 160.49 |3mZE#BZ 5| 0.00 ~ 051|329 16.61 | 100kN/m#Z#BZ2% | 1.00 | 1068 ~ 3839 160.49 |3mZEBZB| 2500 ~ 3839] 3.29 16.61
Thnst 100|373 ~ 1151 100.00 | Fhs | 051 ~ 1151] 3.00 15.16 ZTh LS 1.00| 5.00 ~ 1068 100.00 | This | 5.00 ~ 2500 3.00 15.16
9 100kN/MZi#8Z%5 | 1.00| 000 ~ 309 149.23 |3mZ#BAE| — ~ — — — | 100kN/MZE#BZ5 | 1.00 | 1058 ~ 2980 149.23 |3mE#BZ5 -~ — — —
st 1.00 | 309 ~ 1087 100.00 | #hdst | 000 ~ 1087|299 15.09 TSt 1.00) 5.00 ~ 1058 100.00 | #hist | 5.00 ~ 2980 2.99 15.09
10 100kN/mMZ#BZ5| 1.00| 000 ~ 296 14706 |3m%E#Bz5| 000 ~ 025]314 15.85 | 100kN/mi%xi82% | 1.00 | 1060 ~ 2503| 147.06 |3m%EBZB| 2500 ~ 2503 3.14 15.85
Th st 1.00)| 296 ~ 107 100.00 | #n5 | 025 ~ 1075 3.00 15.16 ZTh st 1.00 ] 56.00 ~ 1060 100.00 | =4t | 5.00 ~ 2500 3.00 15.16
11 100kN/mMZi# x5 | 100|000 ~ 284 144.99 |3mZE#BZZ| — ~ — — — | 100kN/m%Z# %% | 1.00 | 1062 ~ 2380 | 144.99 |3mZEBZ3 -~ — — —
Tt 100281 ~ 1063 100.00| ThLs | 000 ~ 1063]2.79 14.12 Th st 1.00] 56.00 ~ 1062 100.00 | This | 5.00 ~ 2380279 14.12
12 100kN/mZH{EZ % — -~ = —|3mZzH#EZE| — ~ — — — | 100kN/m%Z#8 %% — - ~ — —|3m%EiBZ S -~ — — —
st 1.00 | 000 ~ 667 84.18 | #hst | 000 ~ 667 1.91 9.66 TSt 1.00) 5.00 ~ 8.50 84.18 | #hAS | 5.00 ~ 850 | 1.91 9.66
13 100kN/mZH{EZ % — -~ = —|3mZzBzE| — ~ — — — | 100kN/m%# %5 — - ~ — —|3m%EiBZ 5 -~ — — —
Th st 1.00 | 000 ~ 667 84.22 | #hbst | 000 ~ 667] 1.81 9.14 ZFnLst 1.00) 5.00 ~ 8.10 84.22 | £hst | 5.00 ~ 810 | 1.81 9.14
100kN/mZ#BZ % ~ ImZEHBRD ~ 100kN/mZ#8 % % ~ ImEHBAD ~
Zzh s ~ zh s ~ zh s ~ Zh s ~
100kN/mZ#EZ % ~ ImEEZD ~ 100kN/m%#EZ 5% ~ ImEEZD ~
Zh st ~ ZFh s ~ Zh LS ~ Zh s ~
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